&M 222 B R AR R R RS
%&ﬁ%?ﬁ 2023. 07

—. BB M8 G, HMES 4y, 340 5. TERNESHHAAERS, R
A AEEER,

1~8 ADBC BDBC

o BOUEFE: ML 4 ME, BG5S 4, 3620 2. ESMERHENANETR, #
ARG AEAER. SRNG5S H, WHERNG 24, WEHT S,

9.BC 10. BCD 11.ACD 12.ACD

< AR AKEH 4 ME, GES 5 32045

It

13. 14.7 (ERFR—, RARARES8) AMEE—MIISD)

15. 16.4

LY R g LY

PO, s, ARk 6 ME, JE704). RERBHXFRE, ENLBRERLR.
17. CGEMEHRF109)

B (D) B 1 BAER A, KEZTRNEHC =107,

BARRNIL, EZNERC] =107, [RRTRRRRRRR: §
BN, KEZAEH C =5,

fEasHakE. R 54
Bk 2. 7 Ahig 3 ASEH C) =357,

PLBABRNES C) =107,

A B E RPN L PN ZELER— AEHIAIS-10=25F. o 54
(D BETANE, 242 AAEF CCl =125,

T2 AN, o 1 ANBH CIC) =182,

Bt 3 APEETBAERA I, HA0EE. e 104

EMHEMFMAER B 10 K4



Hk2: C-Cl-C=30.

18. CA/MRE 4y H 12 5)

W (D &x=1711, RFXPEHRGZNNCED"
TIRFR P RAR LA 2"

L2 %x(=1)" =256, ~.n=8.

m [{f; -%] BT AN

8-4r
C;(%?)"'(—%)' —(2yCix > (0srs8).

8-4r

HEE, =-4, r=5,

FEABFASDE x* BRI (2)°C =-1792.
19. (HDE#HSA 125D
#2. (1) TEMEH 1 IEH Ik ABCD- ABC,D, o,

=6

|AC|=v2. |4C,|=V3 + cos<AC,4C, =

rﬁua-RJé}F&ﬁxJﬁx-‘?ﬁ.

(I #a-AC=0, #alAC
EEH 8 ATIAPOIERRATANER DS AC EHOH
AA,,BB,,CC,,DD,,BD,B,D,,B,D,8D,

8x2 2

FﬁL‘lP(AF-;:——;

20 (HRAGERS 124

#: (1) TEADAB, 3D=m=\b-ﬁ= -2, USRS § -



am f(9)=J§(-’2£-9}+2+2J2—20036=\/§(§-ﬂ)+4siﬂg—+2. ........................ 84
f(@=- 3+2cns%,
iy f(B)E(O.—;E)J:iQ‘ii'ﬁ. mg.gu-_maﬁ. ........................ 104

WSO =/ G =-"%+4<5.

il MEBABRMBIRRSE. e 12 4
21, (ADEEHGH125)
B2 (D B—YAB TR AR, BEYS()=1gx %k f(x)=1g(10x)=1gx +1:

HoRAB TP AR, BEES () =lgx+ 128N f,(x)=1gx:

getmes=mmt L L L] ] ] ettt a%
(I %5t 3 KT BRER f,(x) 3 7R

FHBM 3 DIRTRLAR, W A()=1gx+3, f,(1)=3;

BHHE 3 AERA 2 AEE L AR WA =lgx+1, f(D)=1;

SHEBM 3 AN | AER2 IR, A0 =lgx-1, f)=-1;

ZRUH 3 AR, W 0)=lgx-3, f)=3.

FUBMER X WBEN-3-0L3. 6%
P =-9=C3 = 5

P =-n=cii =3

P =D=CiY QY =5

P =3=CI3PCr = o stabodel L gy



FRULRBHLER x 095345500

X -3 -1 1 3
L S 12 L
27 27 27 27
P

1 6 12 8
— (=D x—+Ix—+3Ix—=1,
2_’+( P tIx gty 124y

22, GRS D9 12 58)

BBl E(X)=(-3)x

#: (D Ya=3,f"(x)=x"-3, T .

k=s(0)=-3,f/(0)=-1,
Frulis e, 3x+y+1=0. e 445y

an f'(x)=xe*-a,

#a>e, MM f(x)=xe'—a {£(0+) Lilil,

B f'()=e-a<0, f'(J%)=J§eE—a>\Eer§-a=0(ﬂfﬁexzeﬂ.
ﬂ?ﬂﬁﬂ?"ﬁ'ﬁ‘-‘lﬂéﬂx,e(l,é)v FHS(x)=0, Wxe“=a, .65
LA S (x) 28 (o0, %) LI, 2 (%, H00) Liliih.

F(%) 0, =S (%) = (%, = D™ —ax, =n—xi°—axo =n—ﬂ(xlo+xo)<0. e i S s e s BIGP

XEMNE x> ok, [(X)40, Hx=-off, f(x)—>-—,

i =atL ;
ﬁﬁu#a‘.m—ﬂ(xo +X)-a, WHFE|f(x)=m iy ST R, SO [\ I
s a. il ate
5 ﬁiﬁmx,E(I.J:)- Tﬁ2<x°+x,<ﬁ.
a+e
Fitha<m<alCre=D. 124

GRS ZHeEMABR B0 K4 N



